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ENGLISCH HORVERSTEHEN

WICHTIG:
® In diesem Horverstehen héren Sie die Aufgaben A und B je zweimal.

A (10 POINTS)

Look at the notes below. Listen to the messages and monologues.
Fill in the missing information.

1. A hotel reservation

Hotel’s name Holiday Inn

Callers name L
Reservation dates 2
Number of people B
Rooms must have Lo o
Flight arrival time D e,

2. A problem with an order

Company’s name Sam’s Fresh Produce

Amount of potatoes ordered B e
Time of call T e e
Date of delivery B e
Caller's name D
Caller’'s phone number 10,

Punkte
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B Punkte
(10 POINTS)

A conversation between Sue and Paul, who work for a furniture store.
You will now listen to a conversation.

For each question mark the correct answer (A, B or C). Tick one answer only.
You now have 30 seconds to look at the task.

1. The congestion charge is because of 4. Paul wants deliveries inside London
A [high petrol prices. A [tobe no more than 1km
B [the delivery system. from the business.
C [too much traffic in the city. B [to be made by trucks kept there.

C [Jto be picked up by the customer.

2. The home delivery service 5.  The contract with the train’s cargo company
A [lis losing money daily. A [isfor 24 months.
B [is making a profit by crossing the line. B [ costs as much as the
C [ offers a take-away at an extra cost. congestion charges.

¢ [is good for the environment.

3. The Swiss cargo system
A [lincreases pollution.
B [ gets lorries onto the trains.
C [doesn’t work for London.







